MATH 100 _ Name

Test #1 Fall 2008

No notes or calculators are allowed when taking this test. Be sure to follow the directions for each
part of the test. You may do scratch work anywhere on the pages of this test. The yellow paper is also

attached for that purpose. Turn in all you work, including any scratch work.

PartI. (2 points each) Write your answers on the appropriate lines in the answer column. |

1. Simplify: (—2')3 +5(8+2)+2
~B8¢5 ()4 522

2. Solve: &:23«1—16 Y = 0¥ ~ ge
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=5 RO = 2 X

5. What is the slope of the line with equation 2x +y =12
| LD - -LX F(T

6. What is the y-intercept of the line with equation 2x+y =12

7. What is an equation for the line with y-intercept 5 that is perpendicular :

to the line y =4x+ 37

8. Determine the 'slope of the line passing through (3, 12} and (5,24).
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Part I1 (5 points each). Show your work in the spaces provided. Identify any Varlables you
intreduce and express your conclusions using appropriate sentences.

11. Consider the data in the table below. Graph the data points and show how to determine an

equation for the line that contains t‘lr?data points. Draw and label your axes. '
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12.-13. Show how to solve the following word problems using the steps recommended in the text.
(Introduce and define variables. Set up an equation. Solve the equation if required. State your

conclusions using complete English sentences.)

12. The rent on a magazine kiosk is $225 per month. Suppose the selling price of each magazine is
$2.50, and the wholesale price of a magazine when purchased by the retailer is $1.00.

a. Write an equation expressing the retailer’s profit as a function of the number of magazines
sold. (Assume she sells all the magazines she purchases and her only overhead consists of

rent and the cost of magazines.
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b. If the kiosk owner needs to make a profit of $1,200 per month, how many magazines must
she sell each month?

‘¢. How many magazines must she sell to just break even?

[EOX =220 =0
lsx=225%
X = 50



13. A chatt in US4 Today showed how the amount of money each American spends annually on
prescription drugs, above the amount covered by insurance, was predicted to be increasing from
year to year. The chart gave specific numbers for 2000 ($143) and 2010 ($351), but the trend
appeared to be linear.

- a. Write a linear equation for the predicted relati enditure on drugs and
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b. What does your linear equation predict to be the average monthly expenditure on éli;ﬁgs in
20087 '

Lf =5




